
Catalogue: BRONCO TG1 2021-

Section: 303-12/10D INTERCOOLER/AIR DUCTS AND HOSES, 2.7L DOHC 4V (27PD0X) (2.7L
DOHC 4V DI GT V6 GAS/FFV) (F ...

Print Date: 09/20/2021

VIN: Build Date:

Chat to me about these parts on Microcat Messenger

© 2004 - 2021 Infomedia Ltd and its licensors. Page 1 of 2



Catalogue: BRONCO TG1 2021-

Section: 303-12/10D INTERCOOLER/AIR DUCTS AND HOSES, 2.7L DOHC 4V (27PD0X) (2.7L DOHC 4V DI GT V6 GAS/FFV) (F ...

Print Date: 09/20/2021

VIN: Build Date:

Callout Part Number Description Restrictions Qty From To Price
6F073A MB3Z-6F073-B TUBE - OUTLET 1 05/03/2021 $ 123.58
6F073B MB3Z-6F073-C TUBE - OUTLET 1 05/03/2021 $ 95.28
6F073C MB3Z-6F072-A TUBE - OUTLET 1 05/03/2021 $ 124.67
6F073D MB3Z-6F072-B TUBE - OUTLET 1 05/03/2021 $ 91.85
6F073E MB3Z-6F072-C TUBE - OUTLET 1 05/03/2021 $ 58.23
6C646A MB3Z-6C646-D DUCT - AIR 1 05/03/2021 $ 193.50
6C681 FL3Z-6C681-A BRACKET 4 05/03/2021 $ 19.08
6C839 MB3Z-6C839-A COOLER ASSY - ENGINE CHARGE AIR 1 05/03/2021 $ 178.02
6K864 MB3Z-6K864-B BRACKET - CHARGE AIR COOLER 1 05/03/2021 $ 34.50
6K864 MB3Z-6K864-C BRACKET - CHARGE AIR COOLER 1 05/03/2021 $ 65.93
8146 MB3Z-8146-A SHROUD - FAN 1 05/03/2021 $ 0.00
9D289A MB3Z-9D289-B TUBE ASSY - FUEL VAPOUR SEPARATOR, LH 1 05/03/2021 $ 39.68
9D289B MB3Z-9D289-D TUBE ASSY - FUEL VAPOUR SEPARATOR, RH 1 05/03/2021 $ 29.43
HB1 W505444-S439 BOLT, M10 X 30MM AR 05/03/2021 $ 26.00
HN2 W520412-S442 NUT, M6 AR 05/03/2021 $ 6.00
HS1 W705134-S442 SCREW, BOLT AND WASHER, M6 X 20MM AR 05/03/2021 $ 10.00
HS2 W507169-S437 SCREW, M6 X 22MM AR 05/03/2021 $ 6.00

© 2004 - 2021 Infomedia Ltd and its licensors. Page 2 of 2


